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Al 1,537,350
402 RI2FXt20l 5,699,500 6,992,976 A 1,293,476
= 3,424,700
< 737,450
Al 1,537,350
02 It 2 AL EZ (O THS) 5,699,500 6,992,976 A 1,293,476
OL=dSx =JIH Xt 3,124,500
= 1,874,700
< 312,450
Al 937,350
OL=ZRX MM MIHEX 2= 1,600,000
= 1,000,000
< 300,000
Al 300,000
OPM.NOX S A HZ & X 2= 180,000
= 100,000
< 30,000
Al 50,000
OAHAIA AX WX 15,625,000& * 320K 500,000
= 300,000
= 50,000
Al 150,000
OLPG 3t A X+ K& 295,000
= 150,000
< 45,000
Al 100,000
23012t ZHEX 457X 22| 600 0 600
= 300
= 90
Al 210
402 RI2EA=20l A 600 0 600
= 300
< 90
Al 210
03 RIZHRIEF AL HI 600 0 600
OB&JI2t 3WEX dsKX 2l 600
= 300
= 90
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SMH: JIEHI o
MM HH2AHH (IS

chelr D123l (=& J)
x 5 - 4
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
- SN 120,000& * 12& 1,440
-2t 260,000& = 123 3,120
o2 gz 50,000& = 12& 600
OgRA&s 5 W= &FItHl 70,0008 * 15H 1,050
Ootzt & FTL22X S HI
650,000& » 259% 16,250
202 04l 42,000 36,960 5,040
01 = LH YI 42,000 36,960 5,040
Ol B3Jl2 I2F& ol
140,000& = 25% » 12& 42,000
203 YR =&t 4,800 4,800 0
04 BENSS LR =L 4,800 4,800 0
ORA2EIRFAHI 400,000& = 12& 4,800
204 AR A H| 1,200 1,200 0
01 ¥R A 1,200 1,200 0
OZXMg = AH| 100,000& * 12& 1,200
el 2l 1,580 1,980 A 400
ol 2l 1,580 1,980 A 400
101 @124 dl 1,580 1,980 A 400
03 BRI (RIHY)22NHES 1,580 1,980 A 400
OZZAE S&Hl
8,000& = 54l « 29 « 123 960
OtdZAld Il=l 620
-s= 150,000 * 2% 300
-ot= 100,000& * 29 200
- st 50,000& = 29H 100
= 10,000 * 29H 20
MHEEs(JI=nIIm) 736,927 751,962 A 15,035
RSN 736,927 751,962 A 15,035
=ZHl Btz 711,727 751,962 A40,235
802 BtEt= DI EF 711,727 751,962 A40,235
01 22X 3eeE= 546,034 644,962 A 98,928
020198 A2 AMHE LYXAIE X XA
o AU S BHED 506,867
020208 =2=NsS=FI|D| 222 FHR
o S ohatz 167
O2021d =2=Ns=FI|)| 222l FHR
o s ptEtzs 39,000
02 Al - SHIBZZEtE = 165,693 107,000 58,693
020198 A2 AMHE LYXAIE X XA
o TBTA S HEI 161,965
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25,200

25,200
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25,200
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